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Section : General Intelligence

Q.1  Select the option that is related to the third word in the same way as the second word is related to the first word.

Farmer : Field :: Artist: ?

Ans  of 1. Theatre
& 2. Hero
#< 3. Actor
#< 4. Action

Question ID : 8161611308
Status : Answered
Chosen Option : 1

Q.2 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:
All woods are roots.
All fruits are roots.

No woods are a fruit.

Conclusion:
(I) Some roots are fiuits.

(II) All roots are woods.

Ans X 1. Only conclusion II follows.

7< 2. Neither conclusion I nor conclusion II follows
« 3. Only conclusion I follows.

/< 4. Both conclusion I and II follows

Question ID : 8161611311
Status : Answered
Chosen Option : 3

Q.3 Ofthe four given equations, the first three are solved on the basis of a certain system. Find the correct answer for the
unsolved fourth equation on the same basis.

6*¥5=01
8*7=169
10%7=211

2%5=7

Ans &< 1. 993
W 2 331
< 3 845
< 4 678

Question ID : 8161611294
Status : Not Answered
Chosen Option : --
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10
5
6

Ans (1_

17
3
14

Q4 Select the number that can replace the question mark (?) in the following pattern.

8
15

?

92

Question ID : 8161611297
Status : Answered
Chosen Option : 1

E
D
H
C

Q5 Select the letter that can replace the question mark (?) in the following series.
A C,ED,CEG,F?

Ans  of 1
X2

X 3

F

Question ID : 8161611306
Status : Answered
Chosen Option : 1

HF
EC

U

Q6 Select the option that does NOT belong to the given series:
EC. H, HF, N, KI, U

Ans x 1.
X 2
X3 N
v

Question ID : 8161611309
Status : Answered
Chosen Option : 4
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Q.7 Select the number that can replace the question mark (?) in the following pattern.

600 720 /Si
25 5 27 3 2 9

Ans X1. 23
<2 21
V3 31
X417

Question ID : 8161611298
Status : Answered
Chosen Option : 3

Q.8 Ina certain code language, RUMMY is written as QVLNX. How is CHESS written in that code?
Ans X 1. BIFRT

X 2. BGDTR

# 3. BGFTR

v 2 BIDTR

Question ID : 8161611302
Status : Answered
Chosen Option : 4

Q9 Choose the correct cluster of letters to complete the given series.

_bac_ac acb _ ba
Ans 1. c,a.b,b.c
N 2abbac
Nawmeobb
W4 c b bac

Question ID : 8161611304
Status : Answered
Chosen Option : 4

Q.10 Four words have been given, out of which three are alike in some manner and one is different. Select the odd one.
Ans x 1. Ch i.l‘p

< 2. Caw

v 3 Foal

& 4 Howl

Question ID : 8161611310
Status : Answered
Chosen Option : 4
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Q.11

Ans x1_
- 46
- 24
. 28

18

Find the number of triangles in the given figure.

Question ID : 8161611314
Status : Answered
Chosen Option : 4

1000
1343
729
312

Q.12 sSelect the option that is related to the third number in the same way as the second number is related to the first number.
2125 34307

Ans XL
X 2
v
X 4

Question ID : 8161611296
Status : Answered
Chosen Option : 3

Ans  of 1
X 2
< 3
X 4

LIP
LEP
GAC
INP

Q.13 Select the option that is related to the third term in the same way as the second term is related to the first term.

CAG:GEK: HEL:?

Question ID : 8161611305
Status : Answered
Chosen Option : 1

different.

Ans XL
X 2
X 3
v 2

Q.14 Four numbers have been given, out of which three are alike in some manner and one is different. Select the one that is

Question ID : 8161611300
Status : Answered
Chosen Option : 4
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Q.15 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

Question figure:

=-mmwad

Ans

Question ID : 8161611316
Status : Answered
Chosen Option : 3

Q.16 If 683 is coded as FOX, 654 is FIN, 4581 is NIOC, then what will be the code of 6545132
Ans X 1. FIXICN
X 2. FNINXC
¥ 3. FINICX
< 4. FINNCX
Question ID : 8161611303

Status : Answered
Chosen Option : 3
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Q17 Select the option in which the given figure is embedded. (Rotation is not allowed)

Question figure:

X

x AP

X2

Ans

v /

Question ID : 8161611315
Status : Answered
Chosen Option : 4

Q.18 Three different positions of the same dice are shown. Select the number that will be on the face opposite to the one
having 5.

RalHIE

X2 4
<36
X4 3

Question ID : 8161611312
Status : Answered
Chosen Option : 1

Downl oaded From : http://sscportal.in/ Courtesy : SSC


http://sscportal.in/
http://sscportal.in/

Downl oaded From : http://sscportal .in/

Q.19 Inthe given Venn diagram, A denotes mangoes, B denotes bananas, C denotes apples, and the numbers in each section
represent the number of persons who like those fruits. How many persons like only bananas?

Question ID : 8161611318
Status : Answered
Chosen Option : 3

Q.20 Select the number that can replace the question mark (?) in the following series.
213,217,233, 269, ?
Ans X 1. 296
v 2. 333
<3428
X4 312

Question ID : 8161611301
Status : Answered
Chosen Option : 2

Q.21 gelect the figure that can replace the question mark (?) in the following figure series.

Question figure:

[1] iid hhdd
(YT e

Ans

v |

x 3. [T

[11]
x 4. Lk

Question ID : 8161611313
Status : Answered
Chosen Option : 2
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Q.22 If *# means *—, “&  means “+’, ‘@’ means **’ and ‘+’ means ‘+’, then 15@ 2+ 900 & 30# 10="7
Ans x 1. 21

X< 2 310

V'3 50

X 4. 600

Question ID : 8161611295
Status : Answered
Chosen Option : 3

Q.23 gelect the number that can replace the question mark (?) in the following series.
126. 217,344, 7
Ans  of 1. 513
X 2 521
X 3. 729
X 4512

Question ID : 8161611299
Status : Not Answered
Chosen Option : --

Q.24 P is the brother of Q. R is the daughter of Q. S is the sister of P. Q is sister of S. T is the brother of R. Who is the uncle
of T?

Ans j1_ P
X2 Q
X3 cC
X4s

Question ID : 8161611307
Status : Answered
Chosen Option : 1
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Q.25 Select the correct mirror image of the given figure when a mirror is placed on the line PQ.

Question figure:
E
L}

Ko

Ans

=1

Question ID : 8161611317
Status : Answered
Chosen Option : 4
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